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Form

h'
W bZ 3 4 5 Capacity

A @5 8 6 6 3 800
Bffir; 4 7 7 6 5 s00

fu}r 8 4 4 6 4 900

Demdd 400 400 s00 400 800

b. Solve the travelll@lesman problem for the following data:
Co:2Q CrfuffiV Cr+=10 Css:6 Czt=5 Czs=10 Cla=6 Qs+:20
Where CU= k #d tn.rr is no route between cities i and j the values for Ci; is not given.
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4 Solve the following integerprogramming problem by
Maximum Z:3xt * 4xz

Subject to 2x1 * x2 ( S

2xr + 3a< 9

Xl, X2 > 0 and integers.

Explain the Fulkerson rule of
A project consists of the activities in the table below :

criticalpath.

5a.
b.

6a.
b.

s"M

aqex$mple.

7 a. Brieflv,#in the following
i) Saffiint ii) Pure sffi

b. Two.pTiafers A and B mi mg coqs gi

Eaclgqf&r
amfoffi\s a
rins #s coir

a I fls. a 2 Rs., a 5 Rs{a{t#a tO ns. Eacfu@alyer selects a coin without the knowledge ot
,Wfurr choice. If thwuddttne coins amffi@#is an odd, player-A wins player-B's coin. If

ffiYe sum the coin*d&nt is even, B *rry Ars coin. Forrnulate ttris problem as game theory
*'problem and find%#bptimat skategibq 6r each player and game value. (12 Marks)dproblem and 

kd&#ptimal 
skatffir each player and game value. (12 Marks)

8 a. Briefly "dffihe Johnson .Wrn for finding the sequence for 'n' jobs through

2 machines&# s (04 Marks)

10ME74

g plane method :

(20 Marks)

(05 Marks)

(10 Marks)
(05 Marks)

i)
ii) g the project in ffiks

"FM"EUE. MW

i) The expectedn.umper of customers

rv) The proba$Ili,ff

b. Find the sequence that mffiiies the total elapsed time required to complete the following
tasks :

that mi&izes the total elapsed time required to

KFdsk A B C D E F G

Tim6on M/c-lftIrs) 3 8 "l 4 9 8 7

hoe on M/c-2Gks) 4 3 2 5 I 4 3

&ime on M/c-3GIrs) 6 7 5 11 5 6 t2

ofutilization and idle time ofeach machine.

* ,1. * :t ,lt
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Also find the
e*
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(16 Marks)


